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𝟐𝒏
∫

𝝏𝟐

𝝏𝒏𝟐
𝒙𝒏−𝟏 𝐥𝐧(𝟏 − 𝒙)𝒅𝒙

𝟏

𝟎

∞

𝒏=𝟏
 

=⏞

{∫ 𝒙𝒏−𝟏 𝐥𝐧(𝟏−𝒙)𝒅𝒙=−
𝑯𝒏
𝒏

𝟏
𝟎

}
𝟏

𝟐
∑

𝟏

𝟐𝒏
𝝏𝟐

𝝏𝒏𝟐
(−
𝑯𝒏
𝒏
)

∞

𝒏=𝟏

=
𝟏

𝟐
∑

𝟏

𝟐𝒏
(
𝟐𝜻(𝟑)

𝒏
+
𝟐𝜻(𝟐)

𝒏𝟐
−
𝟐𝑯𝒏
𝒏𝟑

−
𝟐𝑯 (𝟐)

𝒏

𝒏𝟐
−
𝟐𝑯 (𝟑)

𝒏

𝒏
)

∞

𝒏=𝟏
 

2𝑱𝟓=𝟐 𝐥𝐧(𝟐)𝜻(𝟑) + 𝟐𝜻(𝟐)𝑳𝒊𝟐(
𝟏

𝟐
)-2∑

𝑯𝒏

𝟐𝒏𝒏𝟑
− 𝟐∑

𝑯(𝟐)𝒏

𝟐𝒏𝒏𝟐
− 𝟐∑

𝑯(𝟑)𝒏

𝟐𝒏𝒏

∞
𝒏=𝟏

∞
𝒏=𝟏

∞
𝒏=𝟏  

=2ln(2)ζ(3)+
𝝅𝟒

𝟑𝟔
−
𝝅𝟐

𝟔
𝒍𝒏𝟐(𝟐) − 𝟐∑

𝑯𝒏

𝒏𝟑𝟐𝒏
− 𝟔𝑳𝒊𝟒 (

𝟏

𝟐
) − 𝑳𝒊 𝟐

𝟐
(
𝟏

𝟐
) + 𝟒∑

𝑯𝒏

𝒏𝟑𝟐𝒏
−∞

𝒏=𝟏
∞
𝒏=𝟏

∫
𝐥𝐧⁡(𝟏+𝒙)𝒍𝒏𝟐(𝟏−𝒙)

𝒙
𝒅𝒙

𝟏

𝟎
 

=2ln(2)ζ(3)+⁡
𝝅𝟒

𝟑𝟔
−
𝝅𝟐

𝟔
𝒍𝒏𝟐(𝟐) − 𝟐∑

𝑯𝒏

𝒏𝟑𝟐𝒏
∞
𝒏=𝟏 − 𝟔𝑳𝒊𝟒 (

𝟏

𝟐
)-
𝝅𝟒

𝟏𝟒𝟒
−
𝒍𝒏𝟒(𝟐)

𝟒
+
𝝅𝟐

𝟏𝟐
𝒍𝒏𝟐(𝟐) −

∫
𝐥𝐧⁡(𝟏+𝒙)𝒍𝒏𝟐(𝟏−𝒙)

𝒙
𝒅𝒙

𝟏

𝟎⏟            
𝑻

 

T=∫
𝐥𝐧⁡(𝟏+𝒙)𝒍𝒏𝟐(𝟏−𝒙)

𝒙
𝒅𝒙

𝟏

𝟎
=
𝟏

𝟔
∫

𝒍𝒏𝟑(𝟏−𝒙𝟐)

𝒙
𝒅𝒙

𝟏

𝟎⏟        
𝟏−𝒙𝟐→𝒙

−
𝟏

𝟔
∫

𝒍𝒏𝟑(
𝟏−𝒙

𝟏+𝒙
)

𝒙
𝒅𝒙

𝟏

𝟎⏟        −
𝟏

𝟑
∫

𝒍𝒏𝟑(𝟏+𝒙)

𝒙
𝒅𝒙

𝟏

𝟎⏟        

𝒙→
𝟏−𝒙

𝟏+𝒙

 

=2𝑳𝒊𝟒 (
𝟏

𝟐
) −

𝝅𝟒

𝟏𝟒𝟒
+
𝟕

𝟒
𝐥𝐧(𝟐) 𝜻(𝟑) −

𝝅𝟐

𝟏𝟐
𝒍𝒏𝟐(𝟐) +

𝟏

𝟏𝟐
𝒍𝒏𝟒(𝟐) 

2𝑱𝟓 = −𝟔𝑳𝒊𝟒 (
𝟏

𝟐
) +

𝟏𝟏𝝅𝟒

𝟑𝟔𝟎
−
𝟏

𝟒
𝒍𝒏𝟒(𝟐) → ⁡ 𝑱𝟓 = −𝟑𝑳𝒊𝟒 (

𝟏

𝟐
) +

𝟏𝟏𝝅𝟒

𝟕𝟐𝟎
−
𝟏

𝟖
𝒍𝒏𝟒(𝟐)  𝑱𝟔 =

𝜻(𝟑) ∫
𝟏

𝟏+𝑿
𝒅𝒙 = 𝜻(𝟑)𝐥𝐧⁡(

𝟏

𝟎
2) 

Ω𝟏 = 𝐥𝐧(𝟐) 𝑱𝟏 − 𝑱𝟐 + 𝑱𝟑 − 𝑱𝟒 − 𝑱𝟓 − 𝜻(𝟑)𝑱𝟔 = 𝟑𝑳𝒊𝟒 (
𝟏

𝟐
) −

𝟐𝟗𝝅𝟒

𝟏𝟒𝟒𝟎
−
𝝅𝟐

𝟖
𝒍𝒏𝟐(𝟐) +

𝟏

𝟖
𝒍𝒏𝟒(𝟐) 

Ω𝟐 =∑
(−𝟏)𝒏𝑯𝒏⃗⃗ ⃗⃗  ⃗

𝒏𝟑
=
𝟏

𝟐
∑ (−𝟏)𝒏𝑯𝒏⃡⃗ ⃗⃗  ⃗ ∫ 𝒙𝒏−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙 =

𝟏

𝟐
∫
𝐥𝐧⁡(𝟏 − 𝒙)𝒍𝒏𝟐(𝒙)

𝒙(𝟏 + 𝒙)
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

∞

𝒏=𝟏

∞

𝒏=𝟏
 



 

=
𝟏

𝟐
(∫

𝐥𝐧⁡(𝟏−𝒙)𝒍𝒏𝟐(𝒙)

𝒙
𝒅𝒙

𝟏

𝟎⏟          
𝑰𝑩𝑷

-∫
𝐥𝐧⁡(𝟏−𝒙)𝒍𝒏𝟐(𝒙)

𝟏+𝒙
𝒅𝒙) =

𝟏

𝟔
∫

𝒍𝒏𝟑(𝒙)

𝟏−𝒙
𝒅𝒙

𝟏

𝟎⏟      

{∫
;𝒍𝒏𝒂(𝒙)

𝟏−𝒙
𝒅𝒙=(−𝟏)𝒂𝒂!𝜻(𝒂+𝟏)

𝟏
𝟎

}

𝟏

𝟎
- 

-
𝟏

𝟐
∫

𝐥𝐧⁡(𝟏−𝒙)𝒍𝒏𝟐(𝒙)

𝟏+𝒙

𝟏

𝟎⏟        

−𝟒𝑳𝒊𝟒(
𝟏

𝟐
)+𝜻(𝟒)+𝒍𝒏𝟐(𝟐)𝜻(𝟐)−

`𝟏

𝟔
𝒍𝒏𝟒(𝟐)

= 𝟐𝑳𝒊𝟒 (
𝟏

𝟐
) −

𝝅𝟒

𝟔𝟎
−
𝝅𝟐

𝟏𝟐
𝒍𝒏𝟐(𝟐) +

𝟏

𝟏𝟐
𝒍𝒏𝟒(𝟐) 

Ω𝟑 =∑
(−𝟏)𝒏𝑯𝒏
𝒏𝟐

= −∑ (−𝟏)𝒏𝑯𝒏∫ 𝒙𝒏−𝟏 𝐥𝐧(𝒙)𝒅𝒙 = −∫
𝐥𝐧(𝒙) 𝐥𝐧⁡(𝟏 − 𝒙)

𝒙(𝟏 + 𝒙)
𝒅𝒙

𝟏

𝟎

𝟏

𝟎

∞

𝒏=𝟏

∞

𝒏=𝟏
 

=∫
𝐥𝐧(𝒙)𝐥𝐧⁡(𝟏−𝒙)

𝟏+𝒙
𝒅𝒙

𝟏

𝟎⏟          
𝟏𝟑

𝟖
𝜻(𝟑)−

𝟑

𝟐
𝐥𝐧(𝟐)𝜻(𝟐)

− ∫
𝐥𝐧(𝒙) 𝐥𝐧(𝟏−𝒙)

𝒙
𝒅𝒙

𝟏

𝟎⏟          
𝜻(𝟑)

=
𝟏𝟑

𝟖
𝜻(𝟑) −

𝝅𝟒

𝟒
𝐥𝐧(𝟐) − 𝜻(𝟑) =

𝟓

𝟖
𝜻(𝟑) −

𝝅𝟒

𝟒
𝐥𝐧(𝟐) 

Ω = Ω𝟏 −Ω𝟐 − ᵧΩ𝟑 = 𝟑𝑳𝒊𝟒 (
𝟏

𝟐
) −

𝟐𝟗𝝅𝟒

𝟏𝟒𝟒𝟎
−
𝝅𝟐

𝟖
𝒍𝒏𝟐(𝟐) +

𝟏

𝟖
𝒍𝒏𝟒(𝟐) − 𝟐𝑳𝒊𝟒 (

𝟏

𝟐
) +

𝝅𝟒

𝟔𝟎
+

𝝅𝟐

𝟏𝟐
𝒍𝒏𝟐(𝟐) −

𝟏

𝟏𝟐
𝒍𝒏𝟒(𝟐) − ᵧ(

𝟓

𝟖
𝜻(𝟑) −

𝝅𝟒

𝟒
𝐥𝐧(𝟐)) 

Answer: 

∑
(−𝟏)𝒏𝑯𝒏𝝍

(𝟎)(𝒏)

𝒏𝟐

∞

𝒏=𝟏

= 𝑳𝒊𝟒 (
𝟏

𝟐
) −

𝝅𝟒

𝟐𝟖𝟖𝟎
+
𝟏

𝟐𝟒
𝒍𝒏𝟒(𝟐) −

𝝅𝟐𝒍𝒏𝟐(𝟐)

𝟐𝟒
− ᵧ(

𝟓

𝟖
𝜻(𝟑) −

𝝅𝟒

𝟒
𝐥𝐧(𝟐)) 

 
Note section : 

Harmonic numbers: ∑
𝟏

𝒌
= 𝑯𝒏

𝒏
𝒌=𝟏  ; ∑

𝟏

𝒌𝒎
= 𝑯 (𝒎)

𝒏
𝒏
𝒌=𝟏  

𝝏

𝝏𝒏
𝑯𝒏 = 𝜻(𝟐) − 𝑯

(𝟐)

𝒏
;⁡
𝝏𝟐

𝝏𝒏𝟐
𝑯𝒏 = 𝟐𝑯

(𝟑)

𝒏
− 𝟐𝜻(𝟑);⁡∑ (±𝒙)𝒏𝑯𝒏 = −

𝐥𝐧⁡(𝟏 ± 𝒙)

𝟏 ± 𝒙

∞

𝒏=𝟏
 

𝑯𝒏 = 𝝍
(𝟎)(𝒏 + 𝟏) + ᵧ 

Skew harmonic numbers: 

∑
(−𝟏⁡)𝒌−𝟏

𝒌
= 𝐥𝐧(𝟐) − ∫

(−𝒙)𝒏

𝟏 + 𝒙
= 𝑯𝒏

𝟏

𝟎

𝒏

𝒌=𝟏
 

∑ (−𝟏)𝒏𝑯𝒏𝒙
𝒏 =

𝐥𝐧⁡(𝟏 − 𝒙)

𝟏 + 𝒙

∞

𝒏=𝟏
 

∑
𝑯𝒏
𝒏𝟐𝒏

=
𝜻(𝟐)

𝟐
; ⁡∑

𝑯𝒏
𝒏𝟐𝟐𝒏

= 𝜻(𝟑) −
𝟏

𝟐
𝐥𝐧⁡(𝟐)𝜻(𝟐)

∞

𝒏=𝟏

∞

𝒏=𝟏
 

∑
𝑯 (𝟐)

𝒏

𝒏𝟐𝟐𝒏
+ 𝟐∑

𝑯𝒏
𝒏𝟑𝟐𝒏

= 𝟑𝑳𝒊𝟒 (
𝟏

𝟐
) +

𝟏

𝟐
𝑳𝒊
𝟐

𝟐
(
𝟏

𝟐

∞

𝒏=𝟏

∞

𝒏=𝟏
) 

∑
𝑯𝒏
𝒏𝟑𝟐𝒏

= 𝑳𝒊𝟒 (
𝟏

𝟐
) + 𝐥𝐧(𝟐)𝑳𝒊𝟑 (

𝟏

𝟐
) −

𝟏

𝟐
𝑳𝒊
𝟐

𝟐
(
𝟏

𝟐
)

∞

𝒏=𝟏
 

Polylogarithm function: 

𝑳𝒊𝒂(𝒛) = ∑
𝒛𝒏

𝒏𝒂
⁡ ; ⁡⁡𝑳𝒊𝒂(𝟏) = 𝜻(𝒂)

∞
𝒏=𝟏  𝑳𝒊𝟐 (

𝟏

𝟐
) =

𝝅𝟏𝟐

𝟏𝟐
−
𝒍𝒏𝟐(𝟐)

𝟐
 

𝝏

𝝏𝒛
𝑳𝒊𝒂(𝒛) =

𝑳𝒊𝒂−𝟏(𝒛)

𝒛
; ⁡𝑳𝒊𝟏(𝒛) = − 𝐥𝐧(𝟏 − 𝒛)⁡; ⁡∫ 𝒙𝒏−𝟏𝑳𝒊𝟐(𝒙)𝒅𝒙 =

𝜻(𝟐)

𝒏
−
𝑯𝒏
𝒏𝟐

𝟏

𝟎

 



 

∫ 𝒙𝒏−𝟏𝑳𝒊𝟑(𝒙)𝒅𝒙 =
𝜻(𝟑)

𝒏
−
𝜻(𝟐)

𝒏𝟐
+
𝑯𝒏
𝒏𝟑

𝟏

𝟎

 

∫ 𝒙𝒏−𝟏𝒍𝒏𝟐(𝒙)𝒅𝒙 =
𝒍𝒏𝟐(𝟐)

𝟐𝒏𝒏
+
𝟐𝐥𝐧⁡(𝟐)

𝟐𝒏𝒏𝟐
+

𝟐

𝟐𝒏𝒏𝟑

𝟏

𝟐

𝟎

 

 
 


